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SOCIAL WORK

Paper - 11

marks. All questions are compulsory.
Which Indian state has lowest child

sex ratio, from among the
following ?
(A) Kerala (B) Karnataka

(C) Tamil Nadu (D) Punjab
Which one of the following is not the
professional view of social work ?
(A) Client as object

(B) Client as citizen

(C) Client as recipient

(D) Client as resource

The tendency to commit crime
repeatedly without any sense of
repentance is called

(A) De facto action

(B) Terrorism

(C) Return-back

(D) Recidivism

Which of the following is recognised
as decade for Natural Disaster
Reduction ?
(A) 1980s
(C) 1970s

(B) 1990s
(D) 1960s

The National Rural Employment
Guarantee Act came into force in the

year
(A) 1999 (B) 2001
(C) 2005 (D) 2009

Written or visual materials read or
viewed primarily for the purpose of
sexual pleasure is called

(A) Sexual photography

(B) Pornography

(C) Papers on sex

(D) Blue film

Paper-I1

10.

11.

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

Who introduced the concept of ‘Role
Playing’ ?

(A) E. Durkheim

(B) G.H. Mead

(C) W.I. Thomas

(D) Sigmond Freud

Negative reinforcement leads to
(A) Extinguish a behaviour

(B) Increase in desired responses
(C) Eliminate desirable responses
(D) Learned helplessness

12 years old Ashad need not be told
that he had failed in his exams, on
returning home he could guess by the
looks on his father’s face and his
posture, what his result was ? This is
an example of

(A) Involvement of visual modality
(B) Non-verbal communication
(C) Extra-sensory perception

(D) Facial cues

When monotony in work is reduced
by giving a wider variety of duties to
employees; it is known as

(A) Job enlargement

(B) Job rotation

(C) Job redesign

(D) Job enrichment

NICP means

(A) National initiative for child
protection.

(B) National integrative for child
program.

(C) National integrative for child
policy.

(D) National initiative for child
planning.
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g — |
o =0 I A T (50) TE-TaRed W9 € | Uk WY At (2) S T | @t ueT st ead € |

1. g § 9 69 9rdg =9 9

e aret for atur & 2
(A) A (B) FHAICH
(C) dhferTg (D) U

2. ffcifed 4 ¥ &9 9 TESSE &
eI GEHhIoT Tel ¢ 2
(A) =& & €9 H Fare |
(B) AR & ®9 H Harel |
(C) vraTshal & &9 § Tareff |
(D) TErEH % ¥ H Faef |

3. UEMAM % fRd 99 % $R GRER
ORI L I VeI T FHEeAT & 2

(A) aTEEa® FA
(B) aTceaR
(C) =g dAreT
(D) 3Oy =9q

4 fraffam § @ fRR a9M o

BT e HHT S & 2
(A) 1980 % (B) 1990 %
(C) 1970 % (D) 1960 %

5. IS UTHIOT ISHIR TR iufam g

AN gaT ?
(A) 1999 (B) 2001
(C) 2005 (D) 2009
6. fofad stan gftera ammit 59 e
®Y 9 A G@ & ford Ugl a1 @1 ST F,
HT FEA & 2
(A) T HITUTE
(B) 3TveieT fam, Wifeear
(C) I WG
(D) =7 fwewt
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7.

10.

11.

%l 2

(A) I 3@M

(B) Siuw. #e
(C) =Y 3TE. A4md
(D) Tamve wEE

BN GAe hg AR g

T2

(A) IR A 3 H

(B) e srfransti § gfg o

(C) difwa SHishaTet H THTE HT I
q

(D) vifewyuT FegemT=

12 aT 39S I TE P Dl ST el

off fob &t 31O UXHeT W el &1 T e | 'Y

AT W 3 fuar & W' % 9 3R

SR 5T G Al IAM A SR R

ITHT T IROTH w9 & | I8 feReen

ST € 2

(A) T et b i I B

(B) 3Tatash TEITOT T

(C) AfaRer Hagt STaare

(D) Tel & EE-9d H

& A I ARG HHUET hl ATTh

TR S TGS I | HH & Sl ¢ A T8

FEAT &

(A) S faer

(B) e sHHTE (TSTH)

(C) Sita Riesea

(D) Sitsr Tgfgahor

T ST GO, & Ay ©

(A) TWEA IEARWET ®R - ARes
PIEEHES

(B) vFeT Liiifed ®R drEee Ui

(C) -vrer Leuifed wR =mges iferdt

(D) TWFE IEARWET ®R - AReS
AT

Paper-I1



12.

13.

14.

15.

16.

17.

One of the following is not a
technique  that come  under
paraphrase.

(A) Restatement

(B) Reflection

(C) Summary

(D) Open ended question

The study of the distribution and
determinants of health related status
or events in specified populations
and the application of this study to
the control of health problems is
called

(A) Entomology (B) Biology
(C) Epidemiology (D) Geology

“Felt difficulty in fulfilling role
obligation” is known as

(A) Interrole

(B) Role variation

(C) Role strain

(D) Role ambiguity

The model of Social Policy called
‘residual welfare’ has been advanced
by

(A) Norman Ginsburg

(B) Richard Titmus

(C) Lewis

(D) David Danison

The activity that inter-relates various
parts of the welfare agency so that it
functions as a whole is

(A) planning

(B) programming

(C) co-ordination

(D) policy determination

Which of the following statement is

correct ?

(A) Reliability ensures validity.

(B) Validity ensures reliability.

(C) Reliability does not depend on
objectivity.

(D) Reliability and validity are
independent of each other.
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18.

19.

20.

21.

22.

23.

24,

Who has divided Family into ‘Family
of orientation” and ‘Family of
procreation’ ?

(A) Murdock (B) Kapadia
(C) Robertson (D) Warner

Probation of Offenders Act came into
being in the year

(A) 1948 (B) 1952

(C) 1958 (D) 1962

The strength of association between
two variables is called

(A) Correlation

(B) Inference

(C) Hypothesis

(D) None of the above

The independent variable is also
called

(A) Predictor variable
(B) Criterion variable
(C) Construct

(D) None of the above

The Research design in which
identification of relationship between
variables is attempted, is called

(A) Experimental design

(B) Case Study

(C) Descriptive design

(D) None of the above

What would be mean of 1, 0, 2, 3, 0,
2,3,4,0,2,and 5.

(A) O B) 2

(C) 4 (D) 25

Institutional Re-distributive model is
linked with

(A) Totalitarian state
(B) Welfare state
(C) Capitalist state
(D) Communist state
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12.

13.

14.

15.

16.

17.

e & 9 weh deieh RS %
ST el 3Tl &

(A) ke

(B) wifdfe

(C) ¥

(D) et Ty &1y

ffice SmHemen 4 wem gwf
fefa 3R =ere & famor @ik
e &1 e 3R 3H ST &
T e EEeS 6 FatEd w5
T e AT T HEATT & 2

(A) e fame (B) i famm
(C) = I fomm (D) o fom=

et FT I Hare § HieAre Teqy
A T FEd & 2

(A) TR g

(B) fterr ufkare

(C) ofHem o o afesm

(D) I & WY H STl

FHoamr (Fagge SoHAY) FET ST &
forer wfeonfee feram & 2

(A) = S (B) e feenw
(C) wifaw (D) <fus e

FHA] T & [af= 9 S
[ A drelt ae (@ )
S {6 oot T ' 9 Y W 96
T FHECATH &

(A) FES= (B) WA
(C) wa=F (D) =i FeiRor

ffafEd # § i |1 %99 el ¢ 2
(A) Taverg-zar, dudr g st
T

(B) drran, foweraHiEar gHved el
g

(C) oo aeqmedr W iR
TEl A E |

(D) Taverg-=ar 3T Judr Uh g &
I E |
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18.

19.

20.

21.

22.

23.

24,

IER & S 9ER 3R UeHH
IRE § fepae fertera Tk 2

(A) T (B) wpuifear
(C) =ema (D) @R

AT uienen eAfutEw fFw a9 #
12

(A) 1948
(C) 1958

(B) 1952
(D) 1962

T W H AT RIS B HS
FEAT € 2

(A) TegmEy

(B) A

(C) uR&weaT

(D) S H A HiE TE

A= = ol T o et ST €
(A) RIS =

(B) #MES W

(C) =

(D) S H A HiE TE

1 e fyeed (festre) o =i &
I T % UEd i Ol S S &
ar TEsTg = e € 2

(A) v festrea

(B) I areme (R We)

(C) TaeRumeH fesied

(D) S H § e el

1,0,2,3,0,2,3,4,0,2 35 % A
=T I 2
(A) 0
(€ 4

(B) 2
(D) 25

gente g fomeie ded fead
e € 2

(A) TEEAHS T

(B) HAUTHRT T

(C) Ysiamst =g

(D) HHERT T
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25.

26.

27.

28.

29.

30.

Who developed the Physical Quality
of Life Index ? (PQLI)

(A) RichardEstes (B) D.M. Morris
(D) Amartya Sen

(C) Md. Yunus

Gender related Development Index is
used in

(A) Millenium Development Goals
(B) World Development Report
(C) Human Development Report
(D) None of the above

Which of the following is not correct
? ‘A belief” becomes a ‘scientific
truth” when it

(A) s established experimentally.
(B) s arrived logically.

(C) is accepted by many people.
(D) can be replicated.

The hypothetical statements denying
what are explicitly indicated in
working hypothesis are known as

(A) Relational hypothesis

(B) Complex hypothesis

(C) Statistical hypothesis

(D) Null hypothesis

The acronym “BIMARU” represents

states

(A) Bihar, Madhya
Rajasthan and U.P.

(B) Bihar, Maharashtra, Ranchi and
U.P.

(C) Bihar, Mizoram, Rajasthan and
U.P.

(D) None of the above.

Accountability in governance refers to

(A) The ability of citizens to hold
leaders, government and public
organisations to account.

(B) The ability of citizens to open
accounts in banks.

(C) The National income account
that show profit and loss of
government.

(D) The behaviour of chartered
accountants in the corporate
world.

Pradesh,

Paper-I1

31.

32.

33.

‘Glass Ceiling’ is
(A) A transparent surface of a
building where plants are kept.

(B) A transparent barrier which
women face as they attempt to
achieve promotion to the
higher levels of organisation.

(C) A place with clear surface
where reptiles breed.

(D) A Dbiological problem with
women during pregnancy.

“Yellow revolution’ is

(A) A tribal custom of North-
Eastern States.

(B) A symbol of criticism of
political decisions adopted by
opposition parties.

(C) The growth, development and
adoption of new varieties of oil
seeds and technologies to
increase oil seed production.

(D) A revolution to bring changes
in the mind of masses for
environmental concerns.

Biomagnification is a process

(A) where some compounds remain
in the eco-system in virtually
unchanged form as they are
passed from one organism to
another by predation.

(B) When some compounds change
their properties and become
part of other organism.

(C) Magnification of compounds
with one step after the other.

(D) Bio degradation of environ-
mental system in which some
compounds continuously change
their characteristics.
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25.

26.

27.

28.

29.

30.

Stad  geeis  H Aifde  TurEEr
(Y 0T, 31TE) Tohat Torehtaet =hl & 9
(A) T (B) Stuw. HiRkg
(C) = gT™ (D) 39 o
Siet grEtad fah gasi @ WA
Tohee femar ST & 9

(A) TeEls e

(B) fova fasmm Rue

(C) =Ma faepr Ruie

(D) SUdw § H g T

frafafega & @ &9 @1 W@ @ E 2

‘YR’ ATk Ted’ & Sl & el ol

(A) TETTHS € 9§ T=d 8 |

(B) i ¥4 W Hfed il € |

(C) &gd | ol gRT WHR T ol
ST & |

(D) SIS A7 Uicighd i ST Fehell € |

e UNSheTHIS H S gEre &9 9
I B & ST SR HH A
RGO (AT gealisd) FaF
FEA € 2

(A) TEHRE TREHIAT

(B) ifeet uReheaT

(C) it IR

(D) ¥ IR

TR ¥ TS (. SMETA.T.3RY,)
DI T T BT FET AT & 2

(A) TR, qe7 U, ST X .41,
(B) &R, Werme, It 3K .

(C) R, o, TeTer= iR g,
(D) ST B T

I | SR fohaeh Tehd i € 2

(A) FTeTl, WIHR qAT AH TS
SAERd @I ®l AN
piecil

(B) i § @raT WieH i ARG i
i |

(C) UL 3T Wl WHR I o
21 T E |

(D) HRURE fava & TG TEHR H
il
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31.

32.

33.

‘ST BRI (TATH FTT) o1 & 2

(A) TARA F IR Fg ST U
S & |

(B) URERI 37aRry foEeh Aeenat i

3od TR o TSl d YS9
& THY AT HAT TS & |

(C) W% Tae Jod I &l Fuorstiet
e Ut S & |

(D) THYRUT % IRH et ® A
TEET |

i Shif=t ST & 2
(A) STR-YAT TN Y TSI FeT

(B) famelt Tei FRT SAUAC
ﬂ?{qﬁﬁﬁﬁﬁvﬁraﬁaﬂaﬁw%
EGIED

(C) foeles & Scued W ghg A B
TrEnfiTieRat 3T ToeteT & 78 forem
" g, fashm o) 3% 9=

(D) ATATERONT THRI & ot &AM &
AT ® S_eTa o % ford ST

ok STereT Teh Uishar &

(A) & F T aRiefase e
" foesper afafad 9 ¥ @ S
& ik 3 TRt i & FROT TH
Y g ° 9ot S € |

(B) <& % frsor e o sEerd €
3 2 ST H TN ST I € |

(C) T &% d% W FUH & |qI
fogron = sTere

(D) dMERUE e H S
3EAd SaH Mo oFeRd
®Y G AU fowdre @ Sgerd
WAE |
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34.

35.

36.

Match the items in List-1 with List-11

List—1 List—11
(a) Reproductive (i) Police
Child Health Research
(b) The National (ii) Trauma
Rural
Employment

Guarantee Act
(c) Post Traumatic (iii) Mother and

Stress Disorder Child

(d) Bureau of (iv) Employment
Police Research at village
and level
Development

Codes :

@ () () ()

(A (i) () (i) (v)

(B) (i) (iv) (i) (i)

(C) (iv) (iii) (i) (i)

(D) (i) (i) (i) (iv)

Arrange the following Acts in order

in which they were enacted. Use the

codes given below :

(i) The Industrial Employment
(Standing orders) Act.

(i)  The Indian Trade Unions Act.

(iii) The Industrial Disputes Act.

(iv) The Employment Exchange
(Compulsory Notification) Act.

Codes :

(A) (i), (i), (iii), (iv)

(B) (iii), (iv), (i), (i)

(€ (), (i), (iv), (iii)

(D) (iv), iii), (i), (i)

Put the following steps in the process

of Participating Rural Appraisal in a

sequence.

l. Use of tools

Il.  Report generation

I1l.  Rapport building

IV. Initial contact

V.  Sharing the learnings

VI. Participating Action Planning

Codes :

(A) IV, L1 1LV, VI

(B) IV, I 11, V, VI

C) IV LTV, VI

(D) IV, 1,11, 11, V, VI

Paper-I1

37.

38.

39.

Arrange the following Acts in order
in which they were enacted. Use the
codes given below :

(i)  Child Marriage Restraint Act.

(i)  Medical Termination of
Pregnancy Act

(iii) Hindu Marriage Act

(iv) Dowry Prohibition Act

Codes :

(A) (i), (i), (iii), (iv)

(B) (), (iii), (iv), (ii)

(C) (i), (i), (i), (iv)

(D) (i), (iii), (i), (i)

Assertion  (A)
correctional
aims  at
criminals.

Reason (R) : Prison segregates the
criminals to protect the society.

Codes :

(A) Both (A) & (R) are correct.

(B) Both (A) & (R) are not correct.

(C) (A) is correct and (R) is not
correct.

(D) Both (A) & (R) are correct, but
(R) is not correct explanation
of (A).

Prison is a
institution that
reforming  the

Match the items of List-1 with those
of List-II

List—1 List— 11
(Event) (YYear)
(@) International Youth (i) 2005
Year
(b) International Micro (ii) 1950
credit Year
(c) Mental Health Act  (iii) 1947

(d) Establishment of (iv) 1987

Planning
Commission
(v) 1985

Codes :

(@ (b) () ()
A @) i) (v) (i)
® & @ v (i
© (i) @) @)
D) v (@) (i) (iv)

J-10-13



34.

35.

36.

gAl-| & WS R GA-11 B & F T

guferd &
= - | = -

(@) VST ST (i) gfera smy
@

(b) T TTHT (i) TyET
TSR TR=2T (27T
Tt

() W ammms (i) o &R =
LRIEREEDLS

(d) dfera oy wa (iv) T8 T T
foemrg =gt

FHT

a (b)) (c) (d)
A
B (i (v
(C) (iv) (i) (i) (i)
(D) (1) (i) (i) (iv)
ffafaa srfufmt o 37 stfufrataa
g % A T ared e | T T fel
T TN Y
(i) oifer IR (W ST
AT

(i) YR gorgT | Afaf=m

(i) STt foams stutay

(iv) TSR e (e sttegem)
FrafEe

(A) (i), (i), (iii), (iv)

(B) (iii), (iv), (i), (i)

(C) (i), (i), (iv), (iii)

(D) (i), (iii), (i), ()

TETT UTHIOT HeiiehT (3TISTeT) Tt Hfehar
7 fAfcRad | S ST T
I. ST 1 3YIT

1. RO 9

I, | ST

V. YR goreh

V. ARSI SR S\ BT
VI. T SHEeR FEse

(SNEIAITRRIRYAY
(B) IV, II, 1,1, V, VI
(C) 1LV, 11,1, V, VI
(D) IV, I, 111, 11, V, VI

37.

38.

39.

fefafea situfemt @ s7% stfufamta
TH % Y § Farerd # | H 53 el
T TN Y

(i) e foeme MRy stafem

(i) T 1 Tafhedia TaTA TtufTay
(iii) T o et

(iv) Tt iy st

&<

(A) (i), (i), (iii), (iv)

(B) (i), (iii), (iv), (i)

(C) (i), (i), (i), (iv)

(D) (iv), (iii), (ii), (i)

AFHHY (A) : SEIE URTES T &
SToe Seva STt s gErAT
g

HROT(R)  : S_FE AN & Gl
FH F o0 STORIMEAT I 37T
FATE |

XA

(A) (A) 3R (R) I TE & |

(B) (A) 3R (R) T W&l &l § |

(C) (A) Tl & 3R (R) Tl &I ¢ |

(D) (A) 3R (R) 3HT @l € 7 (R),
(A) i TE AT T |

gaAl-1 B 7EE B gA-11 B HE F G
goferd = -
T - | =t - 11
() (a)
(a) SIS TaT A (i) 2005
(b) SRIEE org Fworad (i) 1950
(c) wHE® @ (iii) 1947
S D)
(d) FISHT TENT
AT

(iv) 1987

(v) 1985
HT
@ (b («© @
(A) () (i) (iv) (i)
(B) (v (@) (@v) (i)
(€ @) (@) (@) (V)
D) v (@ (i) (iv)
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40.

41.

42.

Match the following :

List— 1 List—11
(Event) (Date of
observance)
(@) World (i) Oct24™
Consumer Day
(b) International (ii) Sept. 8"
Literacy Day
(c) World Mental (iii) Oct 10"
Health Day
(d) UN Day (iv) March 15"
Codes :

@ (b (c) (d)
(A) (iv) (i) (iii) (i)
(B) (iii) (iv) (i) (i)
(C) (i) (i) (iv) (i)
(D) (1) (iv) (i) (i)
Match the items in List-1 with List-11
and choose the correct code given
below :

List—1 List— 11

(@) Oralstage (i) Trust V/s
Mistrust

(b) Anal stage  (ii) Industry V/s
Inferiority

(c) Genital stage (iii) Autonomy
V/s Shame &
Doubt

(d) Latency (iv) Initiative V/s
Guilt

Codes :
(@ (© © (@

(A) (i) (iv) (1) (i)

(B) (i) (i) (v) (i)

(€ () (vy (i) (i)

(D) () (i) (iv) (i)

Assertion (A) : Inspite of best efforts
Sarva Shiksha Abhiyan failed to
achieve desirable literacy rate.

Reason (R) Results can be
achieved without political will

Codes :

(A) Both(A) and (R) are correct.

(B) Both (A) and (R) are not correct.

(C) (A) is correct and (R) is correct
explanation of (A).

(D) (A) is correct but (R) is not the
correct explanation of (A).
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43.

44,

45.

Assertion (A) : Goitre is a common
disease in mountainous regions.

Reason (R) : The diet of the people
in mountainous regions lack
iodine content.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) (A)is true, but (R) is false.

(C) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(D) Both (A) and (R) are false.

Assertion (A) : Due to strong family
ties, women in India sacrifice
for their family.

Reason (R) : It is a product of social
conditioning.

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A) istrue but (R) is false.

(D) (R)istrue, but (A) is false.

Assertion (A) : Disaster affected
population can take care of
their emotional and
psychological needs with their
OWN resources.

Reason (R) : The strong socio-
cultural traditions are powerful
support in such situation.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) (A) is true, but (R) is false.

(C) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(D) Both (A) and (R) are false.
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40.

41.

42.

FfeRad Sl grfed e
= - |
(&)

(a) fava IuwrErT

=t - 1
(AT T )
(i) 24 s
(i) 8 Taa=rr

(iii) 10 3TRER

(b) T STEEM (i) ST A
&

(c) SFAT ae (jii) TEdr S T
I wd G

(iv) Teet s
TR =Y

(d) areEER

5 i..? 4 b

aTFW (A) : F< quw % AESR,
T ST Fifod Rl &%
T T e H 3T T |

FHRUT(R)  : TSHITTS To8T IR &
T et oTq ST el € |

A (|||)

T4

(A) (A) 3R (R) I TE & |

(B) (A) 3R (R) T W&l &l & |

(C) (A) Tl & 3T (R), (A) & T
T |

(D) (A) W & W= (R), (A) H W

AT TE € |
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43.

44,

45,

AMMHYA (A) : TS H AT TEAE
g ST T ST €

FHRUT(R)  : YadF AN o 3ER |
SIS <l [T T 3T BT € |

%

(A) (A) 3R (R) 3T T & =] (R),
(A) =l T& =TT T T |

(B) (A) ¢ W= (R) A ¥ |

() (A) 3R (R) Fi ¥4 € iR (R),
(A) = T& AT E |

(D) (A) 3R (R) 3T A & |

ANUFHYA (A) : YRT | TIRETRS Trere
W &4 % SHRUT A
TNER % fe™ @ we g ue
S € |

HRUT(R) I8 FHINH STIHe 6
SR E |

F:

(A) (A) &R (R) 3T e € iR (R),
(A) = TE AT E |

(B) (A) ¥R (R) 3Fl ¥ & W=
(R), (A) =l W&l = Tl & |

(C) (A)TFT T (R) AT |

(D) (R) ¥ & W (A) AT |

APTH (A) : URT YTl SEE
O TS 3 TR
MATIHATS B T T H
AT ¥ 9 # Gl
T

T (R) : PfeRTOMEAr  QTEIRT-
qiepias W udr ferfaar o
ST TeeT Bidl © |

(A) (A) iR (R) 3 & & 7 (R),
(A) Ft Tel T T T |

(B) (A)T= & W= (R) AT |

(C) (A) ¥R (R) I ¥ & 3R (R),
(A) F TEl = T |

(D) (A) 3R (R) IHT 38T & |
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Read the passage given below and
answer the following questions as per the
understanding of the passage (Question
No. 46 to 50)

The Right of Children to Free and
Compulsory  Education  Act, 2009
guarantees to all children within the age-
group 6-14 years the right to education in
proper schools with trained teachers. It was
a long, long time coming, but this historic
legislation, despite the many loopholes, has
the power to transform the lives of millions
of poor Indian children who have so far
been deprived of the opportunity to make
their lives better than those of their parents.

Since Independence, elementary
eduction has grown into a multi-headed
monster of sorts, with its own caste system
of  service-providers —  government
ordinary, government elite, private elite,
private-run but government-funded, and so
on. It has provided children of the
privileged classes a springboard to greater
privilege, while doing nothing to eradicate
child labour or provide poor children with
even basic literacy, let alone the broader
gains of education.

Broadly, the vast majority of the
population, both rural and urban, send their
children to government-run schools as
these are free, that is, they do not charge
fees. However, given that the quality of
education in these schools is usually quite
poor, the fast-increasing middle class
prefer to send their children to privately-
run schools.

The new Act addresses some of these
issues, but not the more important concern
— teacher absenteeism. Various studies
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have shown that at any given time, 30% of
teachers at government schools are absent
from their classrooms. While the Act
mandates the number of teaching hours per
year, it does not address the lack of
accountability on the part of the teacher or
the system if the mandated number of
hours is not actually provided.

Other problems include
discrimination on a caste basis, violence
and abuse of children, and discrimination
against girls. The latter is not often overt
but a result of certain existing situations:
for example, 27% of schools do not have
even one female teacher, resulting in a lack
of confidence on the part of parents,
especially of older girls. Fifty percent of
schools do not have separate toilets for
girls. As a result, it is estimated that for
every 100 girls who enrol in school in rural
India, 40 will reach Class 1V, 18 will reach
Class VIII, nine will reach Class IX, and
only one will make it to Class XI|I.

And finally, and more significantly,
what are children learning ? The stated aim
of elementary education is to provide the
child with the knowledge, skills and
qualities to become an independent,
thinking, creative human being. But a
report shows that on the ground we are far
from even providing them the basic
literacy skills. This is the biggest challenge
now that children are increasingly going to
be brought into the mainstream — can the
system help them develop into
independent, thinking, creative human
beings ? Or will it turn out barely literate
automatons that have lost their innate
ability to question and explore ?
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e fear T aR=sT ue oY ot i3 v (.
46 | 50) HT IS :

et Ti3Teeh we arferd foren e erfufam
2009, 6-14 I I T THE H 3T dTet THE
Fedt & foru, uferferd st ¥ I, SUgE
foramerat o fo1e % SIehR h TR T € |
T SHIT % T | 95 99T o, W] I8
UfeeTiaes i, Sgd 9 Sl % aEsgE, ot
TS 9RAE Sedi 1 S S5l Sl v
WA ¥ | FE Ted AU SEd S
AR & ST d Jed T & SR §
Frad @ |

WA W % 9% ¥, IR I o
YT UETIR — TWIHR WER, WHR G,
i, Tonfs, &t STueT STid we/egaen &
o gl e o fosfaa & T 1 s
foRTep Ut ST o Sedr i AT S
faRriysR o w3 F EreE (mar-ae)
TR R &, ST R A 9 % e et
TR Feal Yo d SR & S & &
o o off Tl o &, Foen & s =
AT B A =1 & BT |

AT, STHEEAT T ST SRS T, TTHYoT
Td TR S, 30 el B ARI el o
STl § HiF T8 Yo ¢, o1, I B Tél
od € | e, ae THved @ SH W %
Thell O f¥TeT B oTeR W STead tear gt
g, Ol @ dedr Ay av S sedl @i e
THAl § WS SITRT TR, e ¢ |

T YT T W FS qRET B ST
T W, oTANR H uiEfd & S
HewqUl "SI el | fatae eremEer |
o A & T et T o o e W
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THRT Al & 30% STeATEH I Feaeq &
IR d & | A% SufEe et wided
Y U hl HEAT HT ALY I €, A
qugi Ht R de add § TE ueH 6
STt € @, T8 ST Sl AT STEASE hl 3 F
STATERET o ST T W el T € |
31T FEETRT § S o YR W deyre, fear
R gl F WY JHMER, AR ASTHEA F
foeg evme Tmifee € | ST (SRwmE) U
T el Bl § W] $9 foeme fefaar &
RO BT € : I/ & o1, 27% Whell H
TS OfEeT AT o R al &, SEh wer
wWEy e, favvet agl wefeal &
AR H RIS HT T BT T | 50%
Thell | oTefRal & ford gores v e ¥ |
FAEEY, g AN ¢ Toh A0 9Ra H Wpei
o iR g el TS 100 ASHA W, 40
I IV | S, 18 S VI H 9ga S, 9
FRM IX § Uga 3 fa% U F=1 X1 a%
g T |

3T e 3T SAET Tewyul € o, o= 9@
T @ T 7 ARMTE e B wa o, T
H WA, TR, el AFeE aHH
for 3@ IH, FT R O B UG HEAT
T | W T R 7 gomn e § e s
MR T &9 3¢ ot TRl HIvet & U
FH W Tgd [WE | TE T T A & Hih
S GETERT H AR W SR @ S
T T — N T (A T) I @,
TRl Ud goHTIeRsh A fosetad g |
TEAAT K Al & 7 T FN T8 TE A
TR HeI-Gaell a1 T Tholl o Fehrerm e
U9 X I AR SETOT B I ST ST
@ ¥ |
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46.

47.

The Right of children to free and
compulsory Education Act 2009
guarantees to all children the right to

(A) education in proper schools
with trained teachers.

(B) education to all children within
the age group of 3-14 years in
proper schools with trained
teachers.

(C) education to all children within
the age group of 6-14 years in
proper schools with trained
teachers.

(D) eduction to all children of all
age groups in proper schools
with trained teachers.

Since  independence, elementary
education has grown into a multi-
headed monster of sorts, with its own
caste system of service providers.

(A) Government ordinary,
government elite, private elite,
private-run but not government
funded.

(B) Government elite, government
ordinary, private elite, private-
run but not government funded.

(C) Government ordinary,
government elite, private elite,

private-run, but government
funded.
(D) Government elite, non-

government ordinary, private
elite,  private  run, but
government funded.

48.

49,

50.
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The fast-increasing middle class
prefer to send their children to
privately-run schools because

(A) they charge less fee.

(B) they provide
education.

(C) they provide eduction on par
with government run schools.

(D) they provide more quality

less quality

education.

The stated aim of elementary

eduction is to provide the child with

(A) the knowledge, skills and
qualities to  become a
dependent, thinking, creative
human being.

(B) the knowledge, skills and
qualities to  become an
independent, thinking creative
human being.

(C) the knowledge, skills and
qualities to  become an
independent, thinking

destructive human being.
(D) All the above.

The Right of Children to Free and
Compulsory Education Act, 2009
mandates

l. Specified number of teaching
hours per year.

Il.  Accountability of teachers.
I1l.  Discrimination on caste basis.
IV. All the above.

Codes :

(A) lonly

(B) land Il only

(C) M and Il only

(D) All the above
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46.

47.

T e T e R s
sfafEe 2009 THET Sl W fEE
PR Y TR HT & 2

(A) uRierd s § g UG
et | o |

(B) 3-14 o =i 7Y THE | T Al
® U eIl W g
SR Tpell o fere |

(C) 6-14 o & 37 THE | T g
® U eIl W g
ST Tl H fere |

(D) @il 21g WHE % GHE Sl B
vivierd el @ e SUge
el H T |

WA= Wi & 95§, gRin e
T Wam weTIRT St 37U ST ToTett &
e TEAE T o TS § 2

(A) TIHT TR, GIHR Ty, =it
fear =t |

(B) TRHR U, TLHR TTEROT, it
T &t |

(C) TRHR THRIT, THR Ty, fsit
IBICeEl

(D) TRHN T, T THRT HERT,
FRT e |
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48.

49.

50.

T & ST TET T ST St S et

Thell T USTT TG AT € i

(A) o HH BT AT E |

(B) @ W TUTE I e v
g

(C) o TRl oAl % it 8t fren
TS A & |

(D) & =T TUTET i 96T TS et
g1

TRTRTE 96T 1 AT e aedi ol /T
TS HEAT € 2

(A) a1, "|"|"|§’i\|(’1, GIIcHS HTH

I % T2t ST, ShITet o 7o

(B) W, HARICT GoACHh HIE
4 % FoTT ST, ieret e o

(C) w@a, T9leT &S dTcHh =
I % T2t ST, ShITet aeT o

(D) SwI= T

T Frees ud it T sfsR
Tt 2009 T AR & TR

| wided sted He W fREd
e

Il.  37eATIe! Sl ST
[l ST 3 3TTER O Hevre

IV, Sueert wdt

(A) faF|

(B) fa® IRl
(C) TaF Il I
(D) Swe T
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